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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

Coq PR Ted fe
(a) Define fertility rate.
Tl 91 e fudl |

(b) What is microfinance?

e I 52
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(2)

() Mention one impact of land-tenure
system.

$R-T% IATR 9B 2o SrEy 741 |

(d) Point out one common deficiency
involving in governance.

M IES 71 T @61 seRa &% Sraw
41 |

(e) What is rural-urban migration?
2T -SoI =S Ifereat & e 2

(/) Point out one social challenge arising
from globalisation in India.

(g) In which year was the Rio Summit held?
=’ i @R e S txfeE 2

(h) Define individual behaviour in social
environment.

AITEE *ific s AfEF WvIR g fia
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(i)

0)

(3)

Mention one contribution of agriculture
to the process of economic development.

YT T offere R @bl Wiz SEw
31|

Write one cause of gender inequality in
a family.

o1 “IfRATe foo3e el (TR Qb1 R4 o o

Answer the following questions : 2x5=10

o 2pPTged Ted

(a)

(b)

(c)

3/680

Define globalisation.

=R A=

What is the relationship between the
age structure of a population and its
dependency ratio?

TPRYR PR N FqF Freaieel Semee
TS A3 T 62

What are the types of environmental
externalities?

AfITITS AT OR AFRER & 2
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(4)

(d) Why is sustainability of renewable
resources important?

FRAFATCN A= IS 0 @Fg7yf 2

(e} What is landlord-tenant relationship?
-+ S1F e F=ofsch! 2

3. Answer any four from the following
questions : 5x4=20

Sorq 2TyRd R en v1iReR Tey frn

(a) Explain the role of agriculture in
economic development.

QASE e FR P A0 341 1

(bp) Write a note on credit market in
agrarian society.

FRGA TS 49 INRI 827% b G = |

(c) Explain the distinction between
community governance and corporate
governance.

M *PE WF F9 P91 IR 2N
39 |
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(S)

(d) Briefly discuss the major eras of
globalisation in the last 150 years.

@[ Seo IS [PIHTA YR LI FLF
STCAToT A |

(e) Explain the factors which influence
individual behaviour in an organisation.
IS TG ABITE ASIAS I FRFYR 3161
<41 |

() What is fertility gap’? Explain the
fertility gap in terms of Leibenstein
theory of population.

L@l I’ 27 EERAETT SR TG

GHRACS TII9] F1FA YIRCH! I 341 1
4. Answer the following questions : 10x4=40

TR 2PpTyRd T faar

(a) Discuss the functioning of labour
market in agrarian society. 10
FREA e W IWRA IS ST
¥4l

Or / g

Explain the demographic transition
during the process of development. 10

T Af R ATNCGAR® GRS @R
Rgcg =D 364 |
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(b)

: loya‘hty theory as a

(c)

(6)

Examin 1
. ; . .
Hirschman’s exit, voice,

response to

Oorganisational inefficiency. iO
RReorR omm, w1 e SIS GO
RIS SR 2fofrar Rora 8w 2 |

Or / %41

Discuss the impact of globalisation on
developing countries in terms of
international finance. 10

HEEiod Rel wiace Smmemie (e s
ST SICEAN 7 |

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation. 2+8=10

X I QI 2 AGOT 01 TFE AL
32 SIRFACAF SO P4 |
Or/ 2l

Critically discuss the various land
reform measures adopted In many

developing countries. 10
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(7))

(d) In what way common property resource
theory provides a useful framework
for analysing environmental issues?
Explain. 10

AMYRT  AAfE oo OGN RIS
APIER Rems 9o @ @b s
FI 2 I, I 41 1

Or / g

Write short notes on : 5+5=10
54 COrl ferd
(i) Nutrition and labour productivity

2f2 % 2R BTNl

(i) Economic activity and climate
change

AR I F G AT
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